MAT 135, Discussion Questions 3.25
1. What kind of events could be modeled by a uniform distribution?
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2. What are some properties of a normal distribution?
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3. Give three examples of variables that are normally distributed.
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4. What special properties does the standard normal distribution have (as compared with a
general normal distribution)?
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5. How are z-scores|related to the standard normal distribution?
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6. How do we use the standard normal distribution to calculate probabilities?
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7. Find the shaded

off score here is |
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area under the curve if the mean is 0 and the standard deviation is 1. The cut-
7 = —1.28.
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8. Find the shaded area under the curve for the cut-off value z = 0.5.
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9. Find the probability under the curve, with mean 0 and standard deviation of 1.
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10. Estimate the probability (area) under the normal distribution curve for the z-scores shown on
the graph below.
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